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Exercise A

Expand Ehe brackebs
2(m+a)
3(k+z)

1) 4(prg)

4) §(z+2.)

) ’3(23“)

¢) 2(pr4g)

7] 4(h+2k)

9) 6(2x+3)

‘ﬁ 3(:L+23+3)

1) 2(p+$+r)

il

Solubrong

E xescrie A

2(m+a) = 2m + ¥
3(h+e) = 3h+e
4(@*@)1 4p+44,
S (%) = $x 410

2 (2y#) = €y +3
Z(P*“L‘L): 2p+8q,
A(h+2k) = 4+ €K
6(2x43) = 122 +18
3(x#24+1) = 3x 1Ly 4q

Z(P‘*‘y #) = 294-21-;-2/

(o)

Exercse R

E*pavv( the bthkCh

Y 4 (x =)

) 2(2x-3)
) 3(x-3)

4)  §(1p-q)
5 2(p-9+°)
¢)  —2(x+4)
D -3(y-2)
9| -—C(x-t)
‘l) "4-(21-!—»5)
10) _2(3P'2’L>

E xercite R

4ix ) = 4x -4
4x -6

2(2%-3)
3(9('3) =
§(2p-4) = 10p -Sq,

3= -9

2(,0 —1*() = ZP —21{ +2r

-2 (3(+4—> z =2~ — %

‘3(1-1) =
-S(b(-') = —Sx 45

"33 +6

-4—(21&3)3 — K "4-:7
-—'2(?(-\—21)1 -Cp 4'4—1,



Exercise C

Expand and s«'».rl.-(.]

N 3(x*2) +5(x+3)
2 4(9"21)*3(?*1)
1) 3(5+1y) H2(2x-y)
2(h+k) = 3(h-k)

< S(x+4)-1<x+4)

Ererate C

)l 3 (xc+2)+ S(x+3) K) 3(;44-23)-!-7.(2:—3) 5) Z(x+¢) -2(x+a)

3w+l +5x 41§

= 31+43+4—1—23 = Sx430-2x -¢

= ¥x 4+ 21 -'-"'714—4—\] T x4+ 22

N

4‘('04—21} +3(r)+:ll) 4) Z(lﬂk)"z(k—k)
:4P+X‘I/+3P+3‘l¢ =2h+ 2k =3h 4+ 2k
=Tlp + ”ﬂ/ S -h + ¢k




Multiplying Two Brackets

C_OnStAer (0\ —I’B>(C —(—o()

= ac + be +ad + b

fx::«.m'ol<§

) Cxra)(xed

—

- Y+ 2x + 3% 4+ 6

—
=

_;L2+§><+Q

2) (x -4><x+2)

X' —4x +23x — 1L
d

x - x - |

\)

‘l

3> <X+4—>(L3-—s’)
~ th +4‘3 -~Sx —20

4 (x-D(3xr4)

~

P Gxt——alxrt-gx—{l
- é:(.z —>= — [



5) (35 -1)(3= -2)

le.z — 3 — bx + 2
a[x‘z- — 95 + 2.

—
L

E. ¥ erc s@ Ex‘aaav" Py | -S"."‘-f('\ '("7

D <x’f'3>(’:"’5) = % 4 3x +S§x 41§
= Xz—l—?x*(s_

-

9_> CX——\)(x—f—Z) x* — % + 3Ix -3

= )c-z +Z.9<-—3

A

3) <>( —-Z)[ >< —-A«)

2
X —Cx 4+ ¢

"

2% 4+ 8 + Tx 4+ 2.0

(

4) (2x +s)(< +a)

2_°C'L 4+ (3= ~A 20

1\

‘:31—43—"13 + 6

\1

s) (39-2)(2y-3)

"\




Trinomials

Ex1 <>< +*)(:~:+Z)(:¢+3)
7(x4—3)
1= +3)

1\
T‘)
~N

.‘_
J
N
+
~N
p;

ﬁ.

N

2 L
= . + 3 + 2=

+ 3t F Ax + &

3 2
~ x 4+ bx 41lx 4L

- (2 -3)(x +)(3%~5)
[le—-:;?( —i—Z’C"B](Z’C’g)

[29&1 - - 3]( 3¢ S

")

1

G

L
"Z;c. /G‘DC

—10x- #S$x +18

(R

C:DLB ——\3%—2— —4x +IS

\




E‘ﬁe.(szz.

> <x r2)(x+3)( <+
= [xl,;— 2o + Ix *Q:(Cx—(—‘e)

= [)L2 + 0x + é]<14’<)

2 7
= % + S 4+ 6=

+ 4" F20x + 24

3
< X 'I“"lxl*zéf""?'d‘

D (o)X=
- &2_,1 -x+/]<>é’z)

= [MZ — 2x ‘/"Z('x -2)

3
- )(—2114’9(

3 2
X — 4x 4+ Sk —2

V)




